
8,      14,      20,        _____,          _____,          _____

11,       6,         1,       _____,          _____,        _____,

Find missing terms of the sequence.

2,        4,       6,          _____,          _____,          _____

2,       -4,      -10,      _____,          _____,          _____

-8,       -5,       -2,       _____,          _____,          _____

ଵ

ଶ
⎯,         ଷ

ଶ
⎯,         ହ

ଶ
⎯,       _____,          _____,          _____

0.33,   0.34,    0.35,      _____,          _____,          _____

ଵ

ଶ
⎯,         ଵ

ସ
⎯,         0,        _____,          _____,          _____

-7,            _____,           3,            _____,          _____,                

4,           _____,        _____,         25,         _____,                

𝑥, 𝑥 + 1, 𝑥 + 2, ______,   _______, _______

5,        _____,      _____,         20,            25,         

2,          _____,           _____,           8,             10,                

2,         _____,         _____,        -4,             -6,             

7,            _____,        _____,       -32,           ____,         

13,         _____,        _____,         ____,         81          

𝑥 + 1, 3𝑥 − 1,   2𝑥 + 3,      _____,       _____,
3,5,7, x=2

8,12,16,20 x=3

4,10,16    𝑥 = 4

2𝑥 + 2,  _______,  7𝑥 − 5,     5𝑥 + 5,

𝑥ଶ − 12,   𝑥ଶ − 2𝑥 + 2,   2𝑥2 − 3𝑥 − 4,      _____,

______,          _____,          _____,        8,       10,        12                 

𝑆𝑜𝑙𝑣𝑒 𝑓𝑜𝑟 𝑥, 𝑎𝑛𝑑 𝑚𝑖𝑠𝑠𝑖𝑛𝑔 𝑡𝑒𝑟𝑚𝑠

5,         _____,           17,           _____,          _____,                  

4,            _____,            -2,          _____,          _____,               

2,         _____,            -8,            _____,          _____,                 

13,17,31    𝑥 = −5
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   1, 3, 5, 7, …

   Circle the first term, write 𝒕𝟏 =        , 𝒂𝒏𝒅 find the common difference, twice.

    3, 7, 11, 15, ….

   0.3, 0.31, 0.32, 0.33, …16, 21, 26, 31, 36

8, 14, 20, 26, 32

12, 17, 22, 27, 32 −10, −12, −14, − 16, −18 14, 19, 24, 29, 34

2, 3, 4, 5, 6 −3, −5, −7, −9, −11 5, 11, 17, 23, 29

9, 12, 15, 18, 21

𝑑 = 3 − 1 = 2
𝑑 = 5 − 3 = 2

𝑡ଵ = 1 𝑡ଵ =

𝑑 =
𝑑 =

10, 8, 6, … 3, −1, −5, . . 5, 2.5, 0, …

−
1

2
⎯⎯, −

3

2
⎯⎯, −

5

2
⎯⎯, …

9

2
⎯⎯,

7

2
⎯⎯,

5

2
⎯⎯, … . 27, 13, −1, …
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Write the first 5 terms of the sequence

𝑡ଵ = 2, 𝑑 = 3 𝑡ଵ = 4, 𝑑 = −3 𝑡ଵ = −4, 𝑑 = 5

𝑡ଵ = −7, 𝑡ଷ = 3
𝑡ଵ = 5, 𝑡ଷ = 15

𝑡ଵ = 2, 𝑡ସ = −4 𝑡ଵ = 7, 𝑡ସ = −32

𝑡ଵ = 13, 𝑡ହ = 81 𝑡ଵ = 2𝑥 − 8, 𝑡ଷ = 3𝑥 − 2

6,13,19, 𝑥 = 7
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Find 𝑡ଵ 𝑎𝑛𝑑 𝑑

𝑡ଶ = 2, 𝑡ଷ = 4 𝑡ଶ = 15, 𝑡ଷ = 20

𝑡ଶ = 2, 𝑡ସ = −8 𝑡ଶ = 8, 𝑡ସ = −32

𝑡ଶ = 2, 𝑡ହ = −13

𝑡ଷ = 4, 𝑡ଵ଴ = 39
𝑡ଷ = 3, 𝑡ଵଶ = −1527

𝑡ଶ = 3, 𝑡଺ = 23
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𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑

𝑡ଵ =

𝑑 = 𝑑 =

𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒕𝒆𝒏𝒕𝒉 𝒕𝒆𝒓𝒎 𝒕𝟏𝟎? 

𝑡௡ =

𝟑𝟏 𝒊𝒔 𝒘𝒉𝒂𝒕 𝒕𝒆𝒓𝒎, 𝒕𝒏 = 𝟑𝟏, 𝒏 =?

𝑡௡ =

𝑑 =  𝑡௡ − 𝑡௡ିଵ 𝑑 =  𝑡௡ − 𝑡௡ିଵ

Remember: You could have also added 
the common difference 7 times to 
Term 3 (𝑡ଷ)

1. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝐺𝑒𝑛𝑒𝑟𝑎𝑙 𝑡𝑒𝑟𝑚 𝑡௡ =?

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 3,5,7,

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 3,5,7,

𝑇ℎ𝑒 𝑓𝑖𝑟𝑠𝑡 𝑡𝑒𝑟𝑚 𝑝𝑙𝑢𝑠 n 
ᇱ − 1ᇱ 𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒𝑠

Arithmetic: d must always be the ____________

__________________

Or, Start from beginning

General term formula

3   , 5   ,  7   ,____ ____ ____                   
𝑡ଵ 𝑡ଶ 𝑡ସ

++

____                   
𝑡ଷ

____                   
𝑡ହ

____                   
𝑡௡

, …..

𝑛 = 1 𝑛 = 2 𝑛 = 𝑛

? ? ?

𝑛 = 3
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Find the General term. 

3,         7,         11,         15,   ….

4,         9,         14,         …

Find the 18th term. 𝒕𝟏𝟖 =?

7,         10,         13,          …

Find out what term 63 is. 𝒕𝒏 = 𝟔𝟑.

𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑

𝑑 =

𝑑 =

𝑡ଵ =

Find the General term. Find the 12th term. 𝒕𝟏𝟐 =? Find out what term 49 is. 𝒕𝒏 = 𝟒𝟗.

Find the 20th term. 𝒕𝟐𝟎 =?Find the General term. Find out what term 64 is. 𝒕𝒏 = 𝟔𝟒.
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